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Math 16B Midterm 2 (002) 9AM - 10AM

This exam consists of 5 questions. Answer the questions in the
spaces provided.

1. Compute the following integrals:

(a) (10 points)
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(b) (15 points)
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2. (a) (20 points) Find a general solution to the following differential equation:
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‘ (b) (5 points) Using part(a) find a solution which satisfies the initial condition

y(0) =4,
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3. (25 points) Find a general solution to the following differential equation:
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4. (25 points) A company expects that over ¢ years they will have total continuous income
$3000t. They will invest it in a saving account, resulting in the company having capital
value $60000. What is the annual interest rate of the savings account?
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for) = 2
Tt (3°°°‘€') = 3660  — jneame vake

LY
Caro}d Vada = f"”o <t
®
-vt qe -
3°°°C. dt - — ;Q e rt + L
b
—rt ¢
> yj‘ece v dt = 206e0 &-/-{:- l - 1Y _Mé-f'b
-V r r
® s
=) Coooo = Lim 2% _ ?f.’ff_e_""" _
bop ol r ~ = JGes
r
iy YY)
"') r = = O'Df

€0000

=) ﬁimygd— vake I; 5-;/

PLEASE TURN OVER




Math 16B Midterm 2 (002), Page 5 of 5

9am - 10am

5. (25 points) Consider the differential equation of the form y' = g(y), where the graph of

z = q(y) is as follows:
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a solution for each of the following initial conditions: y(0) = —3, y(0) = 5 and y(0) = —1L.
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END OF EXAM
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